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i4) 1.20 0.55 1/2 0.330
1] i 11.898

A i) HO® =1 = ¥ &
= o RC-40
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L M-30
= TH t=15cm RAEFEIY 11.9 m?
PRI As
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1BP 0.000
1BP +8.700 8.700
INO. 1 11.300
INO. 1 + 10.000 10.000
INO. 1 + 14.841 (_IBC 4.841
INO. 2 5.159
INO. 2 + 7.500 7.500
INO. 3 12.500
INO. 3 + 2.102 (ISP 2.102
INO. 3 + 6.000 3.898
INO. 4 14.000
INO. 4 + 9.364 (_IEC 9.364
INO. 4 + 17.283 (_1BC 7.919
INO. 5 2.717
INO. 5 + 7.800 7.800
INO. 6 12.200
INO. 6 + 10.701 (ISP 10.701
INO. 7 9.299
INO. 8 20.000
INO. 8 + 4.119 (_1EC 4.119
INO. 9 15.881
INO. 9 + 3.800 3.800
INO. 9 + 7.900 4.100
INO. 9 + 16.000 8.100
INO. 10 4.000
INO. 10 + 11.119 ( 1BC 3 )| 11.119
A E 211.119
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INO. 10 + 11.119 ( 1BC 0.000
INO. 10 + 17.680 6.561
INO. 10 + 17.680 0.000
INO. 11 2.320
INO. 11 + 11.573 ( 1SP 11.573
INO. 12 8.427
INO. 12 + 12.028 ( 1EC 12.028
INO. 12 + 18.289 ( 1BC 6.261
INO. 13 1.711
INO. 13 + 0.870 0.870
INO. 13 + 0.870 0.000
INO. 13 + 6.300 5.430
INO. 13 + 16.750 10.450
INO. 14 3.250
INO. 14 + 2.000 2.000
INO. 14 + 6.500 4.500
INO. 14 + 7.901 ( 1SP 1.401
INO. 15 12.099
INO. 15 + 10.500 10.500
INO. 15 + 17.514 ( 1EC 7.014
INO. 16 2.486
INO. 16 + 1.259 ( 1BC 1.259
INO. 17 18.741
INO. 17 + 2.798 ( 1SP 2.798
INO. 18 17.202
INO. 18 + 4.336 ( 1EC 4.336

O 153.217
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INO. 18 + 4.336 ( 1EC 5 ) 0.000
INO. 18 + 6.700 2.364
INO. 18 + 6.700 0.000
INO. 18 + 8.000 1.300
INO. 18 + 16.072 ( 1BC 6 ) 8.072
INO. 19 3.928
INO. 19 + 2.130 2.130
INO. 19 + 2.130 0.000
INO. 19 + 11.700 9.570
INO. 20 8.300
INO. 20 + 0.970 (_1SP_6 ) 0.970
INO. 20 + 4.000 3.030
INO. 20 + 17.500 13.500
INO. 21 2.500
INO. 21 + 5.868 (_ 1IEC 6 ) 5.868
INO. 21 + 8.054 ( IBC 7)) 2.186
INO. 21 + 16.500 8.446
INO. 22 3.500
INO. 22 + 9.800 9.800
INO. 22 + 13.788 ( 1SP_7 ) 3.988
INO. 22 + 18.250 4.462
INO. 23 1.750
INO. 23 + 4.000 4.000
INO. 23 + 8.800 4.800
INO. 23 + 19.521 (1EC 7 )| 10.721
INO. 24 0.479
NE 115.664
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INO. 24 0.000
INO. 24 + 17.500 17.500
INO. 25 2.500
INO. 25 + 10.500 10.500
INO. 26 9.500
INO. 26 + 3.338 (IBC 8 )|  3.338
INO. 26+ 9.260 5.922
INO. 26 + 11.000 1.740 I TEME® e i
INO. 26 + 16.980 5.980 1.13 1.13
INO. 27 3.020 1.13 1.130 3.4 1.13 1.130 3.4
INO. 27 + 5.199 ( 1SP 8 ) 5.199 1.13 1.130 5.9 1.13 1.130 5.9
INO. 28 14.801 1.13 1.130 16.7 1.13 1.130 16.7
INO. 28 + 7.061 ( 1EC 8 ) 7.061 1.13 1.130 8.0 1.13 1.130 8.0
INO. 29 12.939 1.13 1.130 14.6 1.13 1.130 14.6
INO. 29 + 18.000 18.000 1.13 1.130 20.3 1.13 1.130 20.3
INO. 30 2.000 1.13 1.130 2.3 1.13 1.130 2.3
INO. 31 20.000 1.13 1.130 22.6 1.13 1.130 22.6
INO. 31 + 5.000 5.000 1.13 1.130 5.7 1.13 1.130 5.7
INO. 32 15.000 1.13 1.130 17.0 1.13 1.130 17.0
INO. 32 + 1.578 ( 1BC 9 ) 1.578 1.13 1.130 1.8 1.13 1.130 1.8
INO. 33 18.422 1.13 1.130 20.8 1.13 1.130 20.8
INO. 33 + 2.757 ( 1SP 9 ) 2.757 1.13 1.130 3.1 1.13 1.130 3.1
INO. 33 + 5.000 2.243 1.13 1.130 2.5 1.13 1.130 2.5
INO. 33 + 14.000 9.000 1.13 1.130 10.2 1.13 1.130 10.2
INO. 34 6.000 1.13 1.130 6.8 1.13 1.130 6.8
INO. 34 + 1.500 1.500 1.13 1.130 1.7 1.13 1.130 1.7

N F 201.500 163.4 163.4
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INO. 34 + 1.500 0.000 1.13 1.13
N0 34+ 3906 LIPC 9 B4Ry [ T T ek T
INO. 34 + 9.000 5.064 )
INO. 34 + 12.800 3.800 1.13 1.13
INO. 35 7.200 1.13 1.130 8.1 1.13 1.130 8.1
INO. 35 + 0.065 (_1BC 10 ) 0.065
INO. 35 + 14.500 14.435
INO. 36 5.500
INO. 36 + 1.166 1.166
INO. 36 + 1.446 (_1SP 10 ) 0.280
INO. 36 + 10.820 9.374
INO. 36 + 10.820 0.000
INO. 36 + 13.000 2.180
INO. 36 + 15.600 2.600
INO. 36 + 15.600 0.000
INO. 37 4.400
INO. 37 + 2.827 (_1EC 10 ) 2.827
INO. 37 + 11.979 ( 1BC 11 ) 9.152
INO. 38 8.021
INO. 38 + 3.700 3.700
INO. 38 + 12.860 ( 1SP 11 ) 9.160
INO. 39 7.140
INO. 39 + 13.741 (_ 1EC 11 ) 13.741
INO. 40 6.259
INO. 40 + 3.200 3.200
INO. 40 + 14.540 ( 1BC 12 )| 11.340
AN E 133.040 8.1 8.1
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o gl m AR o g m AR
INO. 40 + 14.540 (_1BC 12) 0.000
INO. 41 5.460
INO. 41 + 14.989 (ISP 12 )|  14.989
INO. 41 + 16.000 1.011
INO. 42 4.000
INO. 42 + 15.438 (_ 1EC 12)| 15.438
INO. 43 4.562
INO. 43 + 15.950 15.950
INO. 44 4.050
INO. 44 + 2.300 ( 1IEP__ ) 2.300
o2 67.760
gt 882.300 171.5 171.5
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5| E L B 1/2 EIE B [22.440 22.4 m2
( 3.83 1.42 1/2 2.719 £ B 240 22.4 m2
@ 3.83 0.69 1/2 1.321
@ 3.54 0.83 1/2 1.469
@ 3.54 2.59 1/2 4,584
® 3.20 1.04 1/2 1.664
O] 3.20 111 1/2 1.776
[©)] 3.20 0.92 1/2 1.472
® 3.18 0.95 1/2 1.511
[O)] 3.18 1.83 1/2 2.910
(i) 2.92 i 1/2 1.621
(@) 1.55 0.78 1/2 0. 605
(12 1.27 0.62 1/2 0. 394
3 1.27 0.62 1/2 0,394
& " 22440
o . 5 =
4 R Bk =¥ B &
(=] i _ N
t=10cm KEEFR LY 22.4 m®
FAGEEN
t=3cm REEFEIY 22.4 m®
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1.30x0,23
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| B | 2

1 5
11.0 m2
11.0 m2

: @o.sx0.22 —
:\ S OTEPS
D1NO. 44
1ND. 43+15. 95
FRSEREEMBRERC
B A | ZBIN. 43+15. 95~EP
(& = E 2 s & 1/2 ] = E D B & 1/2 E OB
0] 1.74 0.12 1/2 0. 104 (5 | 1.41 0.70 1/2 0. 494
@ 2.91 0.44 1/2 0. 640 (18 1.41 0.70 1/2 0. 494
€ 1.30 0.23 /2 0. 150 a 1,29 0. 64 1/2 0.413
( 0.86 0.22 172 0. 095 (i@ 1.29 0.64 1/2 0.413
( 0.59 0.31 1/2 0.091
® 3.20 1.66 1/2 2. 656
@ 1.88 0.64 1/2 0. 602
®) 2.00 0.59 1/2 0.590
® 2.16 0.52 1/2 0.562
(i 2.36 0.50 1/2 0.590
(i 2.57 0.47 1/2 0. 604
(i2 2.83 0.55 1/2 0.778
(33 3.12 0.55 1/2 0.858
[T} 3.12 0.54 1/2 0. 842 [ # 10.976
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=
Bl 0 #0108 (W4)
A—AKE B—BW @&
% 1 AW , B H 8 = &
. 600 :‘: (w3) ‘ tHA D (W2) — (w3l o 600 . A W
~ ' - . |
T A e H\\_Jrlr T S
L& ol
‘: BACIADIE (W4)
(m)
A = wil | w2 | w3 | w4 | wb | wb | w7
1NO. 23+5.30 ~ 1N0.23+12.30 &£ | 7.20| 4.00 1.00| 6.00 1.13| 0.45|0.545
1NO. 23+16. 70 ~ 1NO. 24+3.85 % | 7.20| 4.00| 1.00| 6.00 1.13| 0.45|0.545
1NO. 24+13.90 ~ 1N0. 25+1.10 Z | 7.20| 4,00 1.00| 6.00 1.13| 0.45|0. 545
1NO. 33+10. 25 ~ 1NO. 33+17.15 &£ | 7.20| 4.00| 1.00| 6.00 1.13| 0.45|0.545
1NO. 40+2.00 ~ 1NO.40+9.20 %« | 7.20| 4.00| 1.00| 6.00 1.13| 0.45|0.545
- § ' =
4 W PSR X B =
" RC-40 Wl W5 W4 W6 & 7
=} i —
t=20cm 7.20 X 1.13 + 6.00 X 0.45 X 1 10.8 m?
t=bcm FAR AR A U 10.8 m*
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